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1. ZEREIE (1 457 #£205)
(1) Panel Data

(2) Significant Level

(3) Sample Statistic

(4 ) Exponential Distribution

(5) Independently Identically Distributed (i.i.d.) Assumption

2. BEELLUTTEE - RFEERRER T ireY , BEBERTHENS (SRS ERREL
R SRR MR (AT - #304)

(1) BAEHREE ? (55)

(2) AMERHRCTEAZAESE B
<1> T 1-2 {EIFZEIEES (hypothesis) B (proposition) » B IRAT TNy

BRME (549

<o> TR 12 TEETRRE M AR « (5 53)

(3) SHERERE RS B SRR < (105)

(4) SAIERIH— ST HFRE « (55)
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3. LU TRAFIR =BT A - SORRAEER T ERER | B TR -
(1EE104)  #£304)
(1) Exploratory Factor Analysis
(2) Logistic Regression Model

(3) 1-Way ANOVA

4, {BEE(X|, Xgve - XigpE—#H R E EHE3H (Normal Distribution ) 7 RHEREIE(E « Bl
(X1, Xz5- . iX100) ~ Li.d, Normal( y,0*) = ELIFAHRLEEHE (maximum likelihood

estimation ) BIHEE (n) Z{EE170 (estimator) » (10 53)

(87 ) MRS MRS fx)?) =321ﬂ-;exp[—§(xi —uf]
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5. Student A has collected a set of data on quarter]}: power load (Y, in megawatts) of

Southern Utility Corporation during 1988-1999. OLS estimation results of fitting the

quarterly sales revenue data are as follows: (10 73+)

Constant X Xi X b &
Parameters 70.5085 1.6362 13,6586 -3,7359 18.4695
(3.1155) (0.0821) (3.2174) -(3.2122) (3.2090)

R?=0.91; SSE=2655.1356; Durbin-Watson Statistic = 1.74
Where figures in parentheses are standard deviations, and variables are defined as:
X,, is a linear trend variable, starting the first quarter of 1988 = 1;
X, =1 if period t is first quarter, = 0 otherwise;
X =1 if period t is second guarter, 0 otherwise;
X = | if period t is third quarter, 0 otherwise.

Please explain why student A uses three dummies in the regression model.




